Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester —-II Remedial Examination December - 2010

Subject code: 320020 Subject Name: S.Q.C. in Textile

Date: 14 /12 /2010 Time: 10.30 am - 01.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Figures to the right indicate full marks.

Q.1
(a) Explain ,in detail, about the importance of SQC in textile industries.
(b) Explain X -chart and R-chart and state their control limits.
Q.2
(@) Find Mean from the following information of a textile industry.
No.of accidents (x): O 1 2 3 4 5 6
No.ofdays (f): 15 25 20 1516 6 3
(b) Draw Histogram from the following values,
Class: 15-20, 20-25, 25-30, 30-35, 35-40, 40-45, 45-50, 50-55
Frequency: 3 9 14 20 35 19 8 4
OR
(b) Draw ‘Ogive’(‘cumulative frequency curve’) from the following information
Class: 0-10, 10-20, 20-30,30-40, 40-50, 50-60, 60-70,70-80
Frequency: 5 8 24 22 15 13 10 3
Q.3

(a) Find the Mode from the following information
Class: 20-30, 30-40, 40-50, 50-60, 60-70
Frequency: 15 27 50 28 10

(b) Calculate Q1 from the following information.
Class : 0-50 50-100 100-150 150-200 200-250
Frequency: 25 40 80 30 25

OR
Q.3 (a) Compute CV ( coefficient of variation ) from the following figures

26 19 40 47 62 115 13 29 32 17

(b) Compute Mean deviation from the following information
Class: 16-22 22-28 28-34 34-40 40-46 46-52 52-58
Frequency: 5 12 10 8 2 2 1

Q.4 (a) Inashuttle manufacturing factory the no. Of rejects in six batches of
equal size were found as under.
Batch : A B C D E F
Rejects: 270 308 290 312 300 320
Test the hypothesis ,using X? test, that the differences between them
were due to chance only. [ Use X? value at 5% level |
(b) Explain T-test
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OR
Use F-test to decide whether the following two samples have been drawn
from the same normal population or not.[ use f value at 5%]

Sample Size[n] Mean[X] Y (X-X )?
A 6 68 60

B 10 68 130

On examining cloth rolls for defects ,following defects were found
2,3,0,5,8,4,5,3,6,1,2,4,3,5,9,46,3,5,2

Plot ‘C-chart’ and give your comments whether the process is in the state
of statistical quality control or not.

Explain characteristics of Normal distribution.
The mean and variance of a binomial distribution are 30 and 12
respectively, find the values of n, p and q.
OR
Calculate the co-efficient of co-rrelation between X and Y
X: 3 4 6 7 10
Y: 9 11 14 15 16
Explain characteristics of Poisson distribution.
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ol Aol HUBA uRell M9 (AUt ofl 213l 52
adl .  16-22 22-28 28-34 34-40 40-46 46-52 52-58
ugdl : 5 12 10 8 2 2 1

Azt wollalcdl As Fs23l Hi Sl WssU AHA €A 2Alel 6 WA WAL
AU Ui 1A Yool ofl Awse ofl Avaul g usl

AA A B C D E F
Agse : 270 308 290 312 300 320
X2 — uRal ol GuL 531 A URscUstl ASIRA ¥ AHellHL 3A
dstad $5 AUSEASs $QAA Al % BD. [X 26{l (BHA 5% s U Adl]

T-uRaal ([Qacrell unesA
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AUA  $€ [n] HRAS[X ] Y (X-X )?

A 6 68 60

B 10 68 130
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X:'3 4 6 7 10
Y: 9 11 14 15 16
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